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I Ar = r, - r, 
At = t , - t ,  

d nnudwaaa (average velocity) uoqoynin # l o  s'R~id~uvs.mi~na~~n ~r sio 
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vIndu = Ar/At - (r2 - rl)/(b - $1 ........ 2.1 
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naiuZaGmmn v = limAtj,,Ar/At = dr/dt ........ 2.6 
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r i l e  7 ~ j d  vx= 10 ~lm5si03uifl vy= I ~um5si03uifl unr v,= lo lumrsio3uifl ecni 
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. . dv = adt 



adx = v.dv ', 

a(x2 - x,) = (1/2)(v2 - vo2) 
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~ ~ u n a i d ~ n C n l u n o g " ~ u o i n i ~ ~ ~ u n d ~ i  
T = 2t 

= 2 X 8.16 

= 16.3 3 ~ 1 %  
u) ein y ' = (vo2-v~) /eg  

= - (0)~]/(2 X 9.8) 
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R = vox(&t) 

= v0cos0 [(2v0 sin 8)/g] 
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mnir (2.31) idunain~a~unrdAqmhodi~5mr 
miq-dd 2.8 ozIfinaiulia#d 2 tinu kd 

I 
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300 = (vocos 2 j  )[2vosin 2 i  )/g] 
= [v00(2 sin 2 f  cos 2 i  )]/g 

2.3.1 iiaiun?iui%airw'n~f (relative velocity, ~fim~~meqnnuo:uoA&iid~?m 
J cr IndoudnioIaGu $i~~ucriio~i~iuudu~~n"ud~nd~ rnsm~ounu~dubn'nilniwlmu 
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niyu : tan0 = -4/13 

0 = -I< 
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Aiuo'And3 200 iilo1um.r/#2Iud tduui i iuununumu ~ ~ w i ~ a i u i l ~ u o ~  A (KIii!ndn"u B 

r1asn~iud3usd B fiii!n&Yu A 
941 a 
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VB = 200cds6dj + 200s in~d  (-T) EIA IU ~ ~ / # i i I ~ d  

81fl vAB V A - V B I V B A e V B - V A P - b  I 

unucii V  = 3001 - noocossdj + zoosinad? iIarun1/#2tud 

= 300; - 200(1/2); + 20o(W2) i  i I l a ~ ~ n ~ # a I u ~  

= 2001+ 100d$ 51 A LU ~ ~ v h % ~ d  

VAB = 1200' + (1004!i)'I"~ 6Ifi IU~I/#~IU~ 

= 102 14 + 3I1l2 6~~1~091/#3b~d 

= 264.6 f l ~ l ~ o l 5 / $ 3 I ~ d  

0 = tan-' ,[zoo/(ioo6)] 
= tan-' (216) 
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R ~ I U G ~  A gucnicu B i i c n i l y ~ 4 4  <'u~nn:iuoonIdnid~kIwiio43u~nIi~, 
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rl(t) = xS + y f i  + z'ir 
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(u) s~~inaiuhu~lr l~u~~rnda w iani t k 7 
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